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In response to 2bi, Brantford indicated that reconciling item 8 represents an adjustment between Account 1588 and 1589. 
a) Please explain the reason for the adjustment and how the adjustment was identified. 
· The adjustment is required in order to correct an error in the July 2016 consumption data received from our third party smart meter data provider. Since the global adjustment expense allocation between RPP (account 1589) and Non-RPP (account 1589) was based on the third party report the adjustment is required in order to correct the allocation.  BPI confirms that customer billing was not based on this report. The error was discovered during further investigation resulting from the previous OEB questions.  BPI is working to confirm that no other impacts from this issue exist.
b) Please explain whether this adjustment is going to be reflected in the Accounts 1588 and 1589 balances requested for disposition.  Why or why  not.
· As the adjustment corrects the GA distribution between RPP and Non-RPP it should be reflected in accounts 1588 and 1589 and included in the balances requested for disposition.  Since BPI’s application was submitted prior to its discovery our current application does not include the adjustment.
